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Name of School
Term Exam Paper 1B  (Set 2)
 Solutions 

Short Questions

	1.	(a), (b)
	
	1A to (a)
 1A to (b)


			The English letter obtained is Z.	1A

2.	(a)	Only P, Q and S have reflectional symmetry.	2A

	(b)	Only P, R and S have rotational symmetry.	2A

3.	(a)	△ABC  △ADC (AAS)	1A+1A

	(b)	△ABC  △BAD (SAS)	1A+1A

4.	EGK = 50	1A
	KGH = 40	1A
	EGH = EGK + KGH	1M
		= 50 + 40
		= 90	1A
	∴	EG is perpendicular to GH.	1A



5.	(a)	∵	△AOB ~ △COD


		∴			=	1M


					=

				x	=
					= 7.5	1A

	(b)	∵	△AOB ~ △COD
		∴	OAB = OCD = 70	1A
		∵	OAB = OCD	1M
		∴	AB // DC (alt. s equal)	1A

		Alternative method:
		∵	△AOB ~ △COD
		∴	OBA = ODC = 60	1A
		∵	OBA = ODC	1M
		∴	AB // DC (alt. s equal)	1A

6.	
	With the notations in the figure,
	area of parallelogram ABCF
	= 12  (16  10) cm2	1M
	= 72 cm2	1A
	area of trapezium CDEF

	= (3 + 12) × 10 cm2	1M
	= 75 cm2	1A
	∴	Area of polygon ABCDE
		= (72 + 75) cm2
		= 147 cm2	1A



7.	Total area of the two bases	= 2 ×  cm2	1M
			= 96 cm2	1A
	Total area of the lateral faces	= (14 × 10 + 14 × 10 + 14 × 12) cm2	1M
			= 448 cm2	1A
	∴	Total surface area of the prism	= (96 + 448) cm2	1M
			= 544 cm2	1A

8.	(a)	
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	3A

	(b)	The amount of rainfall increases continuously.	1A

9.	(a)		160 + 2x + 20 + 90 + 8x	= 360	1M
			270 + 10x	= 360
			10x	= 90
			x	= 9	1A

	(b)	The required percentage

		= 	1M
		= 20%	1A





10.	(a)	The polar coordinates of P, Q and R are (4 , 330), (3 , 150)
		and (5 , 240) respectively.	1A+1A+1A

	(b)	The required distance	= PQ
				= OP + OQ
				= (4 + 3) units	1M
				= 7 units	1A

	(c)	POR	= reflex XOP  reflex XOR
			= 330  240	1M
			= 90
		∴	PQ is perpendicular to OR.	1A



Long Questions

11.	(a)	In BCA,
		BAC + 29° + 	= 180°	1M
		BAC	= 180° – 29° – 	
			= 151° – 	1A
		In ACD,
		ADC + 29° + 	= 180°	1M
			ADC	= 180° – 29° – 
				= 151° – 	1A

	(b)	△BCA ～ △ACD (AAA)	1A+1A



	(c)			=  	1M


				=  	

			x	=  	
			x	= 12 	1A

12.	(a)	Coordinates of Q = (2 , 6)	1A

	(b)	(i)	Coordinates of R = (2 , 6)	1A
			Q is reflected in the x-axis to R. 	1A
			Consider the coordinates of the two points Q and R.
			x-coordinate of R = x-coordinate of Q	1M
			y-coordinate of R  y-coordinate of Q
			= 6  (6) 	1M
			= 12
			∴	Q is translated 12 units upwards to R. 	1A

		(ii)	∵	P and Q have the same y-coordinate.
			∴	PQ is a horizontal line. 	1M
			∵	R and Q have the same x-coordinate.
			∴	RQ is a vertical line. 	1M
			∴	PQR = 90
			i.e.	△PQR is a right-angled triangle. 	1A



13.	(a)	∵	AB is a vertical line.
		∴	The x-coordinate of point B	= the x-coordinate of point A	1M
				= –1	1A
		Let (–1 , y) be the coordinates of point B.
		AB = (2 – y) units	1M
		∴		2 – y	= 3
				y	= –1
		∴	The coordinates of point B are (–1 , –1).	1A

	(b)		
B
C(3 , –2)
A(–1 , 2)
O
F(–1 , –2)
G(4 , –2)
x
y
D(4 , 3)







		Through C, construct line segment CF perpendicular to AB to meet AB produced at F. The coordinates of F are (–1 , –2).
		Through D, construct line segment DG perpendicular to FC to meet FC produced at G. The coordinates of G are (4 , –2).	1M
		AF = [2 – (–2)] units = 4 units
		DG = [3 – (–2)] units = 5 units
		FG = [4 – (–1)] units = 5 units
		Area of trapezium AFGD

		= (AF + DG) × FG	1M

		= (4 + 5) × 5 sq. units	
		= 22.5 sq. units	1A
		BF = [–1 – (–2)] unit = 1 unit
		FC = [3 – (–1)] units = 4 units
		Area of △BFC

		=  × FC × BF

		=  × 4 × 1 sq. units	
		= 2 sq. units	1A


		CG = (4 – 3) unit = 1 unit
		Area of △DCG

		=  × CG × DG

		=  × 1 × 5 sq. units	
		= 2.5 sq. units	1A
		∴	Area of quadrilateral ABCD
			= area of trapezium AFGD – area of △BFC – area of △DCG
			= (22.5 – 2 – 2.5) sq. units	1M
			= 18 sq. units	1A

14.	(a)	(i)	x = 9	1A
			y = 0	1A

		(ii)	Number of S1B students passing examination I
			= 14	1A

	(b)
	Marks of S1B students in examinations I and II
	





3A

	
	Examination I
	
	Examination II
	

	
	Leaf (1)
	Stem (10)
	Leaf (1)
	

	
	8 7 6 6
	3
	8 9
	

	
	9 9 5 4 3
	4
	5 6
	

	
	6 1
	5
	5 7 9
	

	
	8 5 2
	6
	2 6 6 8
	

	
	6 1 0 0
	7
	3 4 4 6 6 7 8
	

	
	5 0
	8
	5 8
	


	
	(c)	In examination I, most of the marks are between 30 and 69.	1M
		In examination II, most of the marks are between 50 and 79.	1M
		Therefore, S1B students perform better in examination II.	1A



15.	(a)		(x + 10) + 70 + (x + 40)	= 180	1M
			2x + 120	= 180
			2x	= 60
			x	= 30	1A
			x + 10	= 4y	1M
			30 + 10	= 4y
			4y	= 40
			y	= 10	1A

	(b)	ABD	= 4y
			= 40	1A
		ACE	= 2y + 20
			= 2  10 + 20
			= 40	1A
		∵	ABD = ACE = 40	1M
		∴	HD // CE (corr. s equal)	1A

		Alternative method:
		HBC	= x + 10
			= 30 + 10
			= 40	1A
		BCE	= 2y + 20
			= 2  10 + 20
			= 40	1A
		∵	HBC = BCE = 40	1M
		∴	HD // CE (alt. s equal)	1A

		Alternative method:
		DBC + BCE	= (70 + x + 40) + (2y + 20)	1M+1A
			= 70 + 30 + 40 + 2  10 + 20
			= 180	1A
		∴	HD // CE (int. s supp.)	1A



[bookmark: _GoBack]	(c)	BEC	= DBE
			= x + 40
			= 30 + 40
			= 70
		∵	DEF	= CEF + BEC + BED	1M
				= 40 + 70 + 7y
				= 40 + 70 + 7  10
				= 180	1A
		∴	DEF is a straight line.	1A



Multiple-choice Questions

Answers

	No.
	Answer

	1.
	A

	2.
	A

	3.
	B

	4.
	D

	5.
	D

	6.
	D

	7.
	B

	8.
	C

	9.
	A

	10.
	D

	11.
	A

	12.
	B

	13.
	B

	14.
	A

	15.
	C

	16.
	B

	17.
	C

	18.
	C

	19.
	B

	20.
	C

	21.
	D

	22.
	D

	23.
	D

	24.
	B

	25.
	B



Solutions

1.	The answer is A.
	Consider the area of the figure.
	8x	= 6  4
	8x	= 24
	x	= 3

2.	The answer is A.
	Area of triangle ABE 

	= × 14 × 6 cm2
	= 42 cm2
	Area of trapezium BCDE 

	= (14 + 8) × 5 cm2
	= 55 cm2
	Area of pentagon ABCDE	
	= (42 + 55) cm2
	= 97 cm2

3.	The answer is B.
	Let y m2 be the base area of the prism.
		Volume of the prism	= 96 m3
		y  6	= 96
		y	= 16
	∴	The base area of the prism is 16 m2.

4.	The answer is D.
	∵	The x-coordinates of all the points lying on the right of the y-axis are positive 		numbers.
	∴	(3 , 9) lies on the right of the y-axis.



5.	The answer is D.

	Area of trapezium ABCD	= (BC + AD)  CO

			= (2 + 10)  4 sq. units
			= 24 sq. units

	Area of △ODE	= (OD  DE)

		= (6  8)
		= 24 sq. units
	∴	Area of polygon OABCDE
		= (24 + 24) sq. units
		= 48 sq. units

6.	The answer is D.
	OP = 5 units
	OS = 3 units
	∵	P and R have the same polar angle.
	∴	P, R and O lie on the same straight line.
	PR = OP – OR = (5  4) unit = 1 unit
	QOS	= reflex XOS  XOQ
		= 350  170
		= 180
	∴	Q, O and S lie on the same straight line.
	∴	QS	= OQ + OS
			= (3 + 3) units
			= 6 units
	∵	6 units > 5 units > 3 units > 1 unit
	i.e.	QS > OP > OS > PR
	∴	QS is the longest.

7.	The answer is B.

8.	The answer is C.
	150 + 40	= 190
		≠ 180
	∴	L1 and L2  in C are not parallel. 



9.	The answer is A.
	In △ABE, 
		ABE + BAE + AEB	= 180
		47 + BAE + 92	= 180
		BAE	= 41
	ADC	= BAE
		= 41

10.	The answer is D.

11.	The answer is A.
	∵	In I and II, the angles opposite to the side of 4 cm are both 76.
	∴	I and II are congruent.

12.	The answer is B.

13.	The answer is B.

14.	The answer is A.
	Volume of the solid cube	= 10  10  10 cm3
		= 1 000 cm3
	Let h cm be the rise in water level.
		25  40  h	= 1 000
		h	= 1
	∴	The rise in water level is 1 cm.
	Increase in the area of wet surface
	= 2(25 + 40)  1 cm2
	= 130 cm2

15.	The answer is C.
	∵	PQ is a vertical line.
	∴		x-coordinate of point P	= x-coordinate of point Q
			3a – 1	= a – 5
			2a	= –4
			a	= –2




16.	The answer is B.
	∵	PQ is a vertical line, and PQ  RS, 
	∴	RS is a horizontal line. 
	∴	The y-coordinate of S = the y-coordinate of R = 2
	∴	Only (2 , 2) can be the coordinates of S.

17.	The answer is C.
	Let (u , v) be the coordinates of K.
	Coordinates of the image after the translation
	= (u , v + 2)
	Coordinates of the image after the reflection
	= (−u , v + 2)
	∴		−u	= 1
			u	= −1
		v + 2	= 4
		v	= −6
	∴	The coordinates of K are (1 , 6).

18.	The answer is C.

19.	The answer is B.

20.	The answer is C.
	Draw a straight line CF such that CF // DE.
	Since DE // AB, we have CF // AB.
	
	With the notations in the figure,
		y + 125	= 180
		y	= 55
	x	= 60 + y
		= 60 + 55
		= 115



21.	The answer is D.
	I:	∵	a and b are vertically opposite angles.
		∴	a = b
	II:	∵	x and b are alternate angles on parallel lines AB and CE.
		∴	x = b
	III:	∵	a and DQR are alternate angles on parallel lines CE and PR.
		∴	a = DQR
		If a = y, then DQR = y.
		i.e.	BQ // RN (alt. s equal)
	∴	I, II and III are true.

22.	The answer is D.
	I:	∵	△AOB  △AOD
		∴	AOB = AOD
			AOB + AOD	= 180
			2AOB	= 180
			AOB	= 90
		∴	AC  BD
	II:	∵	AC  BD
		∴	BOC = DOC = 90
		∵	△AOB  △AOD
		∴	OB = OD
		∴	△BOC  △DOC (SAS)
	III:	∵	△AOB  △AOD
		∴	AB = AD
		∵	△BOC  △DOC
		∴	BC = DC
		∴	△ABC  △ADC (SSS)
	∴	I, II and III must be true.



23.	The answer is D.
	For D:

	

	

	∵	There is no sufficient information to show that  or
		BAC = QPR.
	∴	D cannot be the information required.

24.	The answer is B.
	II:	From the scatter diagram, the interviewee who pays $360 uses 5.6 GB of
		mobile data monthly.
		∴	II is not true.
	Only I and III must be true.

25.	The answer is B.
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